ERRABROBEERT — 2 N—XBISY —F
Al
[AH%] 1 7% 1,800,000 @ ~ 2 7&:504,000 4 33 :252,000 1

7R

20191 A23H (k) 24mEEM2H

Y IR4mE

(xwlw | lmEmml - |5 5) wom 8

4 7% :180,000 F 5 j& : 144,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o o N % . -1-1- — BAEH
Uy Iis—%r > Ho7 ;l;ﬁ;% 1.(3_0).1 1-1-1-1 | 40.1 1 (5_215) F‘(ﬁ) 5%@»
L:ANKZATNT B:ov b vynr AAFRBEFERASE RS
S 5L 4 g | TR 1:31.7 2-2-2-3 | 41.4| — 2 471 | FFHE (ER)
2K TING " 56.0 (10) (21 | AAEZ
SANXRTIVG BANRY v VT 1 F— BREMHB L2 L/ 77— L
J A —jprO—L o7 gi;ﬂgiu% 1:31.7 3-3-3-2 |41.3| — 3 534 Fﬂifﬁzzﬁ (Em)
. 7€ fE
LNRVTSY BLECLAY e +3) FIR=4F T T — In
T4—F)b—O— £ 9 3%07:&5 1:31.7 6-6-6-5 |40.5| — 4 481 *@?’E‘ﬂ/ (lfg)
: (%) 7
QA R—ITk—L BIS41EOLS )| wipmg
SN . o7 | MNEAF 1:32.2 3-4-4-4 | M1.4| — 5 479 | BAKRY (EH)
5|5|5 TEVTFU—Y— 3 _ HFEAES
L:772YI7 B:7A-T1—IK @ N :";EE 35
6l111|*S+—T72U—h # 10 ﬁﬁg—i 1:(33).5 55656 (426 — | 6 | 515 gg§§ (Paf)
. 8 - =)
QHLTAT = BRTULE—F vy b 9 | amai nEns
® 1—F—@EBIERL
13—74— 2,6,(3,5),1,4
2a=5F= 2,6,3,5,1,4
Ja=7= 2,6,3,5,1,4
43—+ — 2,3,6,5,4,1
[ N5
B 2 130M4 714K 2-6 100M B E 2-6 210 JEE 2-4-6 160M
B B 2 110 28 100 B H 2-6 490M 3B 2-6-3 370M
6 1504 2-4 100H 2-6-4 590H
3-6 110M
4-6 110H

ABICOVWTRDTEEERROODE. TR LIV,




